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1. Additional 10 (Ten) minutes will be given to the students to fill |up the students' information before the
startofthe exam.
2. All questions are compulsory and carry equal marks. There is no negative marking. Use of calculator
isnotpermited.
3. Write your Name, Roll Number and | Class clearly on the Answer Sheetand do not forget to: sign.
4. Thereis only one correct answer hence: 'mark one choice only.
s, Darken your choice with HB Pencil or Blue / Black Ball Point Pen only. For Example :
Q16:  Anumber has nine ones, sixtens and eight hundrods. Whatis the number?
® 8 ® 8%
©) %8 © 986
A the orrect answeris opton Nos () the candidatsshould darkon the circe conesponding o opin No. (3
6. Rough work should be doneiin the blank: space provided in the booklet.
s Return the answer sheet to the invigilator at the end of the exam. The question paper can be
retained by the tudent.
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1. Which of the following picture cubos doss
») @ (8) @
B i

2. Which of the following statements is false ?
(A) A rectangle is a quadrilateral, (B) Asquare is a rectangle,
(©) A sphere s a i (D) None of thse.

3. When Joe got ready for school
He also saw the clock's

picture shows how the clock

@ ® CY 2 ®

4. Priya is presently at Log Ride,
S units south and then 5 units west. W
ride did she walk to?

(A) Giant Coaster

(B) Little Dipper

() Sky Train i

1T

(D) Ferris Whee!

5. Tina and Rohit collect baseball cards. Each has the same number of cards. If Raju

gives Tina and Rohit 5 more baseball cards each, who will h: T number
of baseball cards, Tina or Rohit?
() Tina

(B) Ronit

(€) Both Tina and Rohit will have the same
{D) There is not enough information to ant
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6. Which pair of numbers best completes the equation?

=
(#) [68] and &G5> ®) [65) and G 500>
(0) [650] and 6,005

7,10, 8, 11,9, 12
What number should come next ?
(A () 10 © 12 ©) 13

8. Tanya is older than Samrat.
Mohit is older than Tanya.
Samrat is older than Mohit.
If the first two statements are true, the third statement is.
(A) True (B) False (©) Uncertain (D) None of these

9. A man walks 5 km towards south and then tums to the right. After walking 3 km he
turns to the left and walks 5 km. In which direction is he from the starting point ?
(A) West (B) South (C) North-east (D) South-west

10. Two positions of dice are shown below. How many points will appear opposite to

the face containing 5 points? v

()3 ®)1 =[s
_©2 D) 4 o S
11. In the given figure, triangle represents ‘giris’, rectangle  Giris—,

represents ‘players’ and circle represents ‘coach’. m“‘"‘

Which part of the diagram represents girls who are Fiisees

players but not coach?

P ® Q © R © s

. Arrange the words given below in a meaningful sequence.
1. Leaf 2. Fruit 3. Stem 4. Root 5. Flower
5,12 (B)4,3,1,5,2 (€)4,1.3,52 (0)4,3,1,2,5

LTS,
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14. Which symbol replaces the question mark?

L) @gﬁg Iww 2 B

© @ (D) None of these
15. Which number will replace the question mark ? s[e[7 A
(A1
(8) 4 R
©3 372/
D) &

16. What rule is used for the In-Out machine?
(A) Double the number
(8) Add 10
(©) Add 15
(D) Subtract 10

17. Look at Mohit's time table.

drops off kids. coachos baskotball
atschool eats lunch practico
volunteers at shops for
library grocarios

A 9AM 10AM TTAM 12PM 1PM 2PM 3PW 4PM SPM GPM 7PM 8P
Which of the following events happens after Mohit eats lunch?

(A) Mohit volunteers a library (B) Mohit coaches basketball practice
_(C) Mohit drops off kids at school (D) None of these

18. Select a figure from four options which when placed in the blank
space of Fig. (X) would complete the pattern.

;
w[N] ® © © Fio 5

19. Kirti puts the tiles shown below into an empty bag and mixes them up.

UanEynnEE
What fraction of letters are vowels ?
_Wao . Bae @ o
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(8) Green o> oo o>
g

(C) Pink
(D) Yellow Em
SECTION Il - MATHEMATICAL REASONING
21. Which of the following represent the same values ?

FH
ol % 3
“ A i

22. Which of the following figures shows only line segment PQ 2
® e 2®e SRR - )

23. What number should go in the box to make the statement true?

(4) S8 () )4 — [ O
24. Which of the following is a prime number?
Qe e a e g 49 o5

26 1t A stand tor 3, AR stand ror 7, HEHE stand for 20, [ stanas

for 100, then

CICIOITTHH N A A A - EBEE i T

— A4, QD) e . Dj4 i
27. What fraction of the given figure is unshaded?
6 5 N
w2 Ok © 5 CENN
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28. The class is making cards to give to their friends. They must use congruent (sar

size and shape) triangles. Look at Jamal's triangl
Jamal needs another triangle that is congruent to put on Q
his card. Which triangle should he choose?

Jamal's Trianglo

® b Bl © o) NG

29. A number has 24 ones, 3 hundreds and 15 tens. What is the number?

() 384 e @23t (0) 31524
ERERER - i 5

30- |53[32|2 g o =
) 112 ® 16 @ © 18

31. Tammy has 5 boxes of markers. There are 8 markers in each box. Which of |
options shows the way to find the total number of markers that Tammy has ?

(A)5+8=[Jand8+5=] ®) 5+8=[Jand8-5=]
_©8x 7|7janusr~5:\:_|v = @ 8x5=Jand5x8=] =
32. |f<>~<>-<>o<>=1nn.men 1nnn_<>-D,D-<>=7

(A 1000 (B) 690 < (C) 380 (D) 310
33. Anjali read the given pages each month.

in which month did Anjali read most pages? Weth - [Wigber of pages

&) ey January | 4476

() February Fobruary | 4416

{©) March March 4768

(D) April April 4716

34. Which sign goes in the box?

. 5
©) = (D) None of these

35. Look at the problem given here.
O=A+4s
1f A =7, what is (7
*) 3 ®7 © 1 (0) 14
0em

36. QRST is a rectangl
(A) 5cm

(8) 6.cm i =
(€) 7cm ""‘I
©) 8cm s 5 L

UVWX is a square. Find UT.

47IMO | Levek | Class -4 ©=




[image: image7.jpg]37. Which is true ?
" Wor=tes (@)9rie=1e=0 (0 18ro=18x

(D) 9+18=18+9

36, Which of the following will be a true statement if an equal sign (=) Is placed in

the box ?
(A) 1 day [] 24 mins (B) 1 hr ] 80 mins
_(©) 231 (D) 3600 sec (I 10 mins

39. The points on this number li

T2 4 6 8101214 161820222426 203032
Which of following number lines continues this pattern of polnts in the same way ?

(A) S hs e i )
343536 40 42 44 46 48,50 62 54 56 58 6062 64 34098 0 42 44 46 48,50 52 54 50 596062 64
©

40. Tania bought these items at a sale.
She went to the sale with a ¥ 500 note. How much money.

is left with her now?

Sriaud
it kbl bl ot

2115 15
(A) 2 340 (B) 2 260 (C) 2 240 (D) 2 160

N Il : E!

SECT RYDAY MATHEMATIC!

41, Sania used the things listed below to make a pizza
114 cup pepper jack; 1/4 cup tomatoes; 3/4 cup onions.
What was the total amount of items Sania used to make the pizza?

(A %wo ®) 1% cup

3 s
a2 ey e e ) o ©

42. Amisha and her friends decided to have a water fight on a hot summer day. They
fillod & bunch of water balloons and started the fight at 3:45 P.M. The water balloons
lasted for 40 minutes. When all the water balloons were gone, they sprayed water
with hoses for 45 minutes more, until Amisha's dad showed up th ice cream.
What time was it when the water fight ended?

(A) 5:10 PM. (B) 4:25 PM. (€) 6:10 PM. (D) 5:20 PM.

43. Arun works 9 hours a day. If he earns 2 5 an hour and works for 2 weeks everyday
in the week, how much does Arun earn?
(A) 2630 (8) 2730 (©) 490 (0) %940

44, Danny filled a measuring cup with 2/3 cup of vegetable oil. Then he poured
273 oup of the oil from the measuring cup into a frying pan. How much oilis left
in the measuring cup?

S © a2
45. Which of the following is equivalent to 180 minutes?
(A 1 hour (B) 3 hours )ahows (D) Ghours
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[image: image8.jpg]46. Valley Transport has been hired to deliver new seats to the Sports Stadium. The
company will use 41 trucks to move the seats. If each truck holds 1025 seats, how
many seats will be delivered to the stadium?

() 41, (8) 41925 (©) 42,025 (D) 42,125

47. A year has 355% days. One day has 24 hours. How many hours are there in 355%
days?
@) 2190 (@70 (©) 8760 (0) 8772

48. Uday had 56 trading cards. He gave some of the cards to Jerry. Then Uday had
23 trading cards left. What was the total number of trading cards Uday gave to

® % ©@®  on

49. Tamanna bought 4 rolls of film. Each roll could make 27 pictures. What was the
total number of pictures that she could make with the 4 rolls she bought?
(A) 35 (B) 828 (c) 108 (D)2

50. There are 5778 blue pens and 7253 black pens in the supply warchouse. How many
pens are there in all?
@ 1ot (8) 13031 ~(€) 12021 (D) 15051

SPACE FOR ROUGH WORK
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